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Euler and others have shown that:
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If the Riemann Hypothesis were true. In order to prove the Riemann

Hypothesis is true, we would need to prove the above statements.

Solving the first equation with respect to F(%+it) gives:
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Solving the second equation with respect to F(%+it) gives:
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We can replace the Riemann Zeta function with the Z-function and cancel it
out.
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We could substitute Euler’s constant with the Digamma function of 1.
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which is totally false. Thus, the Riemann Hypothesis is invalid.



